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Choose the number of faces of the

three-dimensional figure.
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A square has a perimeter of 28 m.

What is its area?

> A =49 m?

b. A = 81 m?

A = 64 m*

A =16 m?

.28 m dhsa pip
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P=64cm

P=32cm

P=16cm

P =24 cm
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How many lines of symmetry does

the shape have?
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A square has a perimeter of 28 m.

What is its area?

s A = 81 m?
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A = 64 m?

d A =16 m?
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Find the distance between the t

points C(2,—6) and D(3,1).




Find the distance between the two

points C(2,-6) and D(3,1).
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A square has a perimeter of 32 m.

What is its area?
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A = 49 m-

A=81m"
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Choose the scatter plot of the data

which shows a negative association
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